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A 328,093 323,067 5,026
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SESH0 YHHAH 2F 165,532 160,789 4,743
HAH2SH 165,532 160,789 4,743
101 el 3,322 3,979 AB57
10 JIZtNZ22NSEs 3,322 3,979 AB57
OkE=2H SZFH| 3,322
colf 32,0003 x4 H 25 3,200
oMATHNEE = 3,200,000 *3.8% 122
201 ZEH2IH] 38,960 33,560 5,400
01 Atf2teld 19,100 16,100 3,000
oget=EHl 14,500,000& 14,500
o=2&=¢ 600,000 600
O= gl 4,000,000& 4,000
02 522944 18,360 15,960 2,400
O332R=ZL A 9,500,000& 9,500
O =l 2,200,000& 2,200
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OXted gt| 4,460,000& 4,460
03 HAI2EHI 1,500 1,500 0
OHAI2YE Let=ZH| 1,500, 000& 1,500
301 LptEazg 123,250 123,250 0
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Oocl&=¢ 114,800
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10 SAIAHIENS 4,000 4,000 0
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KNS HE X2 54,500 54,500 0
.




S AEH
. X TR (AFLD)
S XN RH

SNBSS - HRAY - BHES 0 & o4 e HIRZE2
ARDEUS AL 54,500 54,500 0
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01 =L§0ft] 4,500 4,500 0
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OATR AHIALY 50,000,0002 50,000
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203 YPeEXY| 10,200 9,600 600
NIPEEECEE S 6,600 6,000 600
opeY 6,600,0002 6,600
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o=l 1,500,00084 1,500
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ogxtz 2,376,000 2,376
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OZ222=aZ A 2,000,000& 2,000
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